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breakpoint: 16645889 − 16645890 can−0 no−0
N = 2   Bandwidth = 41.22
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Bp = 151 line = MAGIC.105 , Chr = 4

breakpoint: 17106055 − 17106064 oy−0 mt−0
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Bp = 153 line = MAGIC.105 , Chr = 4

breakpoint: 17168680 − 17168747 edi−0 oy−0
N = 2   Bandwidth = 97.15

D
en

si
ty

line = MAGIC.105 , Chr = 4

breakpoint: 17168680 − 17168747 edi−0 oy−0

F
re

qu
en

cy

120 125 130 135 140

0.
0

0.
5

1.
0

1.
5

2.
0



−100 0 50 100 150 200

0.
00

0
0.

00
4

0.
00

8
Bp = 157 line = MAGIC.105 , Chr = 4

breakpoint: 17337696 − 17337788 ct−1 po−0
N = 6   Bandwidth = 33.12
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Bp = 159 line = MAGIC.105 , Chr = 4

breakpoint: 17446074 − 17446272 can−0 bur−0
N = 4   Bandwidth = 39.45
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Bp = 160 line = MAGIC.105 , Chr = 4

breakpoint: 17510555 − 17510575 bur−0 can−0
N = 3   Bandwidth = 39.9
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Bp = 161 line = MAGIC.105 , Chr = 4

breakpoint: 17523758 − 17523893 can−0 rsch−4
N = 3   Bandwidth = 33.16
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Bp = 162 line = MAGIC.105 , Chr = 4

breakpoint: 17560444 − 17560529 rsch−4 no−0
N = 5   Bandwidth = 30.63
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Bp = 165 line = MAGIC.105 , Chr = 4

breakpoint: 17766517 − 17767293 oy−0 edi−0
N = 2   Bandwidth = 123
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Bp = 169 line = MAGIC.105 , Chr = 5

breakpoint: 5665838 − 5665839 hi−0 no−0
N = 3   Bandwidth = 37.47
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Bp = 170 line = MAGIC.105 , Chr = 5

breakpoint: 5667247 − 5667256 no−0 hi−0
N = 6   Bandwidth = 32.61
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Bp = 171 line = MAGIC.105 , Chr = 5

breakpoint: 10817265 − 10817276 hi−0 rsch−4
N = 3   Bandwidth = 0.7225
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Bp = 172 line = MAGIC.105 , Chr = 5

breakpoint: 10925867 − 10926021 rsch−4 hi−0
N = 4   Bandwidth = 18.71
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Bp = 173 line = MAGIC.105 , Chr = 5

breakpoint: 11044854 − 11044857 hi−0 zu−0
N = 27   Bandwidth = 0.4656
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Bp = 174 line = MAGIC.105 , Chr = 5

breakpoint: 11096908 − 11096909 zu−0 hi−0
N = 11   Bandwidth = 0.5571
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Bp = 175 line = MAGIC.105 , Chr = 5

breakpoint: 13770649 − 13770690 hi−0 tsu−0
N = 5   Bandwidth = 32.67
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Bp = 177 line = MAGIC.105 , Chr = 5

breakpoint: 14103599 − 14103624 zu−0 hi−0
N = 6   Bandwidth = 35.18
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Bp = 180 line = MAGIC.105 , Chr = 5

breakpoint: 16644410 − 16644427 wil−2 edi−0
N = 2   Bandwidth = 111.3
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Bp = 181 line = MAGIC.105 , Chr = 5

breakpoint: 20290418 − 20290419 edi−0 can−0
N = 23   Bandwidth = 0.4807
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Bp = 183 line = MAGIC.105 , Chr = 5

breakpoint: 23523539 − 23523540 bur−0 hi−0
N = 3   Bandwidth = 39.63
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Bp = 184 line = MAGIC.105 , Chr = 5

breakpoint: 23524401 − 23524420 hi−0 bur−0
N = 5   Bandwidth = 34.71
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